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o Please check that this question paper contains 12 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 31 questions.

o Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
Hahfeta qaelr - 11
SUMMATIVE ASSESSMENT -11
TfuTa

MATHEMATICS
freiRa @a7 : 3 902 SIfYFHTT 3% : 90
Time allowed : 3 hours Maximum Marks : 90
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QA= 7597 :

() @t T ST &

(i) ST FIT-T9 4 31 §97 & &l 9R @Usl - 37, & § 3Rk g & fayifsa &1

(i) TUE 37 4 Uh-Uek 3% a1t 4 F97 81 @IS T § 6 F97 & for78 T FAF 2 37 &7
g1 @UE T H 10 F9T 9 - @7 3H & & IX @S T H 11 T & fo7H T ITAF
4 3H FTE

(iv) FPoIe F FIT qfofa &1

General Instructions :
(1) All questions are compulsory.

(i1) The question paper consists of 31 questions divided into four sections - A, B, C and
D.

(iii) Section A contains 4 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each and Section D

contains 11 questions of 4 marks each.

(iv) Use of calculators is not permitted.
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Qug - A
SECTION - A

U9 GEAT 1 W 4 Tk Uk U9 1 3k AT ¢

Question numbers 1 to 4 carry 1 mark each.

1. AR e @, bW wwﬁﬁs{mmw@wﬁm@ e

g, @ 39 9uF gF 1 A 4§ 2

When the shadow (on the ground) of a pole h metres high is */zh metres, what

is the angle of elevation of the sun at that time ?

2. a%mW%m,me2—ax+l=0%W@ﬁ%?

For what values of a, the quadratic equation x2—ax+ 1 =0 does not have real
roots ?

3.
3RTd 1
a1 #, T g1 AABC &1 ST BC &I F T ¥9%1 Tl T, T YSsil AB q
AC &1 9gM T %I D a1 E W &9 a1 &1 afg AD=8 4.4i. §, a1 AABC
1 GRATT F1d IS |
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Fig.1

In fig.1, a circle touches the side BC of AABC at F and touches AB and AC
produced at D and E respectively. If AD=8 cm, then find the perimeter of
AABC.

4. AU IUHTET 1 Tk &R AGoHA A1 TAT1 UIiaehdl H1d it for <A1 T
&R, T8 TRIGONOMETRY &1 T 18R T |

A letter of English alphabets is chosen at random. Find the probability that
the chosen letter is a letter of the word TRIGONOMETRY.

Qg -d
SECTION - B

U9 G&AT 5 ¥ 10 Tk Uk W97 o 2 3k &1

Question numbers 5 to 10 carry 2 marks each.

5. 56 9.H. E 9 g9 & W UGS H &ARA JMA DI, Sl hg W 45° 6
01 S L Bl

Find the area of a sector of a circle of diameter 56 cm and central angle 45°.
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15 e, fo9 W 1 9 15 T &I G Afhd & 6l Th 99 | ST H =31
TR THamn T 99§ 9 Igssdl T &I el T fHer U SE W
Aford & & 2 A1 3 9 YT BH I UIIehdl T hiToTC |

15 cards, numbered from 1 to 15 are put in a box and mixed thoroughly. Then

a card 1s drawn at random from the box. Find the probability that the number
on the drawn card is divisible by 2 or 3.

Teh FEAER -0, Teh Afdsl gHdd W TSI 81 39h 9Ig ¥ 100 H. &1 g0
R frog ww foig W, 30F RER &1 349 R0 30° ]| A9-508 &I SAE @
HifeTT |

A vertical flagstaff stands on a horizontal plane. From a point 100 m. From
its foot, the angle of elevation of its top is 30°. Find the height of the flagstaff.

Teh HAfgag A4S ABC, S99 AB=AC ¥, & 3idvd Tk ga @i T S, s
&1 STt BC, AC @91 AB &1 SH3I: P, Q 9N R W w91 <t ¢ 1 g =wifs f
st foig P sl BC 1 GRfGANH &l ¥

A circle is inscribed in an isosceles triangle ABC with AB=AC, touching the
sides BC, AC and AB at P, Q and R respectively. Prove that the point of
contact P bisects the side BC.

feoma GHIRT 443 x2+5x—23=0 I B hifoIT |

Solve the quadratic equation 43 x2+5x—2J3=0.

Teh TR 9 & Y9 8 TSI 1 AN, THF YUYW 12 U&f & AW & GUH T1 39
I3 % YUH 20 YT 1 AN A1d RIS |

If the sum of first 8 terms of an AP is equal to the sum of its first 12 terms,
then find the sum of its first 20 terms.
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Qug - 49
SECTION - C

U9 GE&AT 11 | 20 Tk Uk U9 o 3 37k &1

Question numbers 11 to 20 carry 3 marks each.

11. 19 i 52 Wil 1 TGN H 9 shied T o 3ok G shied T ! o7TH oTcd T Fehred feu
T | Y I ohl TSt YhR W Thed o 91€, 399 9 Teh U1 Hehter T | ifaehal I1d
shifse for THeRTe 737 O

() Tk el T 1 I © (i) THIFRIT

Black aces and black queens are removed from a pack of 52 cards. Remaining
cards are reshuffled and then a card is drawn. Find the probability of getting :

(1 ablackcard (11) an ace.

12. 1.5 1. ST U YeTsh U Foaet @ 2003 W I g0 W | ST ATl 9 Fawt &
T o1 S99 v 30° %1 THEHT Bl =T A1d HifsT |

An observer 1.5 m tall is 203 m away from a chimney. The angle of elevation
of the top of the chimney from his eyes is 30°. Find the height of the chimney.

13.

TP 2

3Tpfa 2 °, AOB &g O aTet 91 o1 AT &, T I o foig T T TI%1 181, AB &l 9@
TP R et 81 afe LBAT=230°%, @ ~TPA J1d ®ifSIT |
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Fig. 2

In fig. 2, AOB is the diameter of a circle with centre O. The tangent at a point
T on the circle, meets AB produced at P. If #ZBAT =30°, find £LTPA.

14. D C

.
A E B
TP 3
3Tpfa 3 § ABCD Uah HHGd § 98 AB||DC § 991 LABC=90°%| BCFE T&

Fd 1 AgA 81 AT BC=CD=4.2 4.1 791 AE=1.8 Q.. T @ SEifRa WM
T %A A I |

D C

-
A E B
Fig.3

In fig.3, ABCD is a trapezium with AB|DC, and ZABC=90°. BCFE is a
quadrant of a circle. If BC=CD=4.2 cm and AE=1.8 cm, find the area of
the shaded region.
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15.

16.

17.

18.

19.

14 9H. YS9t T 39 o1 § § AYhaH AHR T Tk P Heh e
o T 9N 99 3 H Fd IO AA%d A it |

A cone of maximum size is carved out from a solid cube of side 14 cm. Find
the total surface area of the remaining solid left out.

TI YoM 40 FFYUeh] 1 A0 TG BT < 6 F 96 HH W 1 39 370 8|

Find the sum of first 40 positive integers which give a remainder 1 when
divided by 6.

T agHfSe W % fIReR & @A W TH 10 W, 39 9o & R iR 9 &
STITHT HI0 B ¢ 30° IR 45° T | TEATTS 9o i SHaE 3R ST a1 & o
i g I SINT |

The angles of depression of the top and the bottom of a 10 m tall building from

the top of a multi-storeyed building are 30° and 45°, respectively. Find the
height of the multistoreyed building and the distance between the two
buildings.

x & fau g1 +ifeW .

oigd oM areft fagt & 24 Q. S 3R 6 AL SMUR 51 aren wF vig

T T R | Teh o=d 3 3H Teh A & 3MHR H o fean) M ot o= I
IS |

A cone of height 24 cm and radius of base 6 cm 1s made up of modelling clay.

A child reshapes it in the form of a sphere. Find the radius of the sphere.
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20. T Tk &l 2 IR I T Gt Fyfaa afomal &1 fafae) gifgear I«
WW:

() &9 9 ®F 1 fuq g
(i) Had 1 9T AT

A coin 1is tossed twice. Write all possible outcomes. Find the probability of
getting :

(1) atleast one head.

(1) only one tail.

@ ug - q

SECTION -D

U9 HE&AT 21 9 31 Tk Uk Y97 & 4 3ih g

Question numbers 21 to 31 carry 4 marks each.

21. THhell Sl ST o2 Hl Tpd § A HEM & g, 3t Td 99 9% 3 5000
Tl EYIHAT BT | 391 U8l HElH T 150 hi o=d ohi a1 Yodeh T 3791 o=d
% 50 9@l T3 | Jd HIC foh 12 WEH o o1g 8 19T o1 ol Whdt | qfEd

A o fau, Tavae AR S Ol AYer TRl | THewhal! & 39 79 § fhg
qed 1 Y Bl § 2

Ramkali would require ¥ 5000 for getting her daughter admitted in a school
after a year. She saved ¥ 150 in the first month and then increased her
monthly savings by ¥ 50 every month. Find, if she will be able to arrange the
required money after 12 months. Which value is reflected in her efforts ?
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22, 7 . A TG 20 H. TEU Uk FAT WIS A1 &1 389 vt g fugt 1 gum
w9 § et #R 22 H. x 14 W, ST Th A TR TAT | TH TR Bl ST 70
FHIT |

A 20 m deep well with diameter 7 m is dug and the earth from digging is evenly

spread to form a platform 22 m X 14 m. Find the height of the platform.

23. Tag wifvu & fdt sy foig @ 900 W it T w9t @il &1 dergal sxeR el
gl
Prove that the lengths of tangents drawn from an external point to a circle
are equal.

24. 1.6 . T TH ASH 40 H. Id TH o1 § FB qU W G 8| 3@ I8 o
1 31X A1 § 79 SHE! 1@ § 9o & R H I R0 30° ¥ 60° & S
21 I HIGC fF g8 9o # IR fhat g a9 Fod T R

A 1.6 m tall boy is standing at some distance from a 40 m tall building. The
angle of elevation from his eyes to the top of the building increases from 30°
to 60° as he walks towards the building. Find the distance he walked towards
the building.

25. Teh U9 i & IR ekl AT GIfIehdl J1d Hifsw &
G 5 fordt ft IR 7 =@
() <SFI I W TE Gl w1 AW 5 9 sifyes T @/
A die is thrown twice. Find the probability that :

(1) 5 will not come either time.

(1) Sum of numbers on the two dice is not more than 5.
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26.

AqFfa 4§ &g 0 I < THEE g1+t g 7 Aol 3R 14 9. ¥ qem
/AOC=60°| BEIfhd &5 T &hd T hITeIT |

Fig. 4

In fig. 4, the radii of two concentric circles with centre O are 7 cm and 14 cm
and ZAOC=60°. Find the area of the shaded region.

27. T UMl & A TH WY TF S Bl 22%ﬁq=rﬁﬁmm‘§l IS A Tl o

BNl &1 Y |, H 9 a1 7 9 10 fAe &8 999 a1 8 1 Ik T g1 3T
F B I WA F GHI Jd RIGC |

Two water taps together can fill a tank in 22% minutes. The tap of larger

diameter takes 10 minutes less than the smaller one to fill the tank separately.
Find the time in which each tap can separately fill the tank.
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28, 9% WHIM 9 A hita TSEeht dren 98 17 § a1 S5t 10 9 98 396 7 9 9
T 15 3faew 7|

Determine the AP whose 4" term is 17 and the 10th term exceeds its 7t term
by 15.

29. T dlcel U & fo=1eh & RN 1 8, FTEH 28.49 fleX g9 1 1 F qen
et i fadl o6t T shoen: 28 | qen 21 Bl &1 STedt i 9% A|
TS |

A bucket is in the form of a frustum of a cone and holds 28.49 litres of milk.
The radii of the top and bottom circular ends are 28 cm and 21 cm respectively.

Find the height of the bucket.

30. Tag wifS for forddt amer foig @ foRdt o ) Sl T8 wost Y@l & sit= &1 i
et fagstl &l fHam at X@@Eve g’ g T 3TdRa HIv &1 & B & |

Prove that the angle between the two tangents drawn from an external point
to a circle is supplementry to the angle subtended by the line segment joining
the points of contact at the centre.

31. 4 9.1 550 9@ tw g9 & UG UE fAYS ABC 39 YRR @i@r w € fF
@rave BD 3R DC (579 wawt foig D g/ BC fawfsd €) &1 ofamgar swaw:
8 Q.. o 6 A T1 AT AB 3R AC I HifTT |

A triangle ABC is drawn to circumscribe a circle of radius 4 cm such that the
segments BD and DC in to which BC is divided by the point of contact D, are
of lengths 8 cm and 6 cm respectively. Find the sides AB and AC.
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